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1km?2 = 100 ha = 1000000 m?
4.7km? = 470 ha = 4700000 m?
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(8 +14) x 9 + 2 = 99( m?)
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1t = 1000kg = 1000000 g
3.8t = 3800 kg = 3800000 ¢
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10000cm? = 1m?

(1) 150000cm? = 15m?
(2) 16m? = 160000cm?
(3) 270000cm? = 27m?
(4) 43m?2 = 430000cm?
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4.3m = 430cm
AAFZE 9] Yol 430 x 250 = 107500( cm?) = 10.75(m?)
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(1) 9ha = 90000 m?
(2) 5km? = 5000000 m?
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HE T 65000
HED 6500000
HE D 93
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1km?2 = 100 ha = 10000 a = 1000000 m?
(1) 6.5km? = 650 ha = 65000 a = 6500000 m>
(2) 930a = 9.3ha = 0.093 km?
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@ 24000m? = 2.4ha @ 150a = 1.5ha
@0.3 km? = 3ha @ 24000a = 2.4km?

® 3.6ha = 36000 m?

® 0.3km? = 30ha
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@® 0.02km? @ 0.2ha (3)2000a
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@D 0.02km? = 2ha

® 2000a = 20 ha

@ 20000 m? = 200a = 2ha
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@ 100 m? @) 10000a ® 0.1km?

@ 1ha ® 10m x 100 m
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@ 100 m?

@ 10000a = 1000000 m?

@ 0.1km? = 100000 m?

@ 1ha = 10000 m?

® 10m x 100 m = 1000 m?
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7200 m? + 90 m?
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1t = 1000kg
3500kg + 2000 kg + 6400 kg = 11900kg = 11.9t
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® 570000g + 0.043t = 613 kg

@ 5kg°] 100081 5t JYct.

® 420kg 2] 100 HiE 42t YUYt

@350kg + 4.7t = 350kg + 4700 kg = 5050 kg
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300g —» Qkg

58t =Qkg=®g
4600g = 4.6kg = Ot

@ 90000 @ 0.03 @ 58000

@ 58000000 ($)0.0046

1kg=1000g , 1t =1000kg , 1t = 1000000 g
@ 9000 @ 0.3 @ 5800 @ 5800000
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© 7320kg = 7.32t

© 875000 g = 875 kg = 0.875
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(15 x 8) — (7 x 2) = 120 — 14 = 106( m?2) = 1060000( cm?)
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S : 10m? = 0.001 ha
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20x 14— (8x14+2) - (8% 8+2)
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340m
71
I
850m:
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cCF ha

(340 4 820) x 350 + 2 = 203000( m?)
= 20.3( ha)
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= 1600 x 450 + 2 — 800 x 225 + 2

= 360000 — 90000 = 270000( m?)

270000m? = 2700a = 27 ha
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56 a

(ArehelEe] Wol)-(4ztge) Hel)
= (60 + 100) x 100 =2 — 80 X 60 + 2
= 8000 — 2400 = 5600( m?) = 56(a)
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(7t=29] dol)= (150 + 2) — 35 = 40(m)
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la=100m?2 °]|E2 1400m?2 = 14 a
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1.2 ha = 12000 m?2

20 x 20 = 400( m2)
12000 + 400 = 30 ( 7H)
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>
[> HE: 0.6km?

m 5 km & 1HA HolE FAYr
700m = 0.7km, 1200m = 1.2 km,
300m = 0.3 km

(AFcHeES] Hol)

= (0.740.3) x 1.2 + 2 = 0.6( km?)
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350X 10X 2+300x 10x2+10x 10 x4 = 13400( m?) = 134(a)
= 13400 = 134a
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3.5t = 3500 kg
SaaE B2 AR FA=

0.2 +13.8 = 14(kg) JYtt.

(dat 42 5) 3500 + 14 = 250(“4A)
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T--30m----~
(=39 Hol)= (@9 Hol)+(©%] Hel)
=26x30+24+9%x8+2
=390 + 76 = 466 m?
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54.4ha = 5440a = 544000 m2 |22,
(BBAAF 9] Wol)= 800 x| | = 544000

[ ]= 544000 = 800 = 680(m)
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50. T J93 ZF2 upg Bk Aol BA = 25.2t YUt o] A
1la 9] FA= 2 kg dY71?

SR 9| Yol

=90 x 40 = 2 = 1800m? = 18a
25.2t = 25200kg

1a9] F7] = 25200 + 18 = 1400kg




